Outline of Test-C (Chapters 7-9)

The quiz will have three questions of approximately the same weight:

1.

2.

3.

On Chapter 7. Tokenizers, File 1/0, testing, and UML.

Y ou will be asked to write a program, draw a diagram, or suggest test cases.

On Chapter 8. Given an API with 2 or more classes involving aggregations, write
programs or predict the output of code fragments.

On Chapter 9. Given an APl with 2 or more classesinvolving is-arelationships, write

programs, classify methods, or predict the output of code fragments.

Data Sheet:

String Methods
(invoke on a string s)

char charAt (int p)
Returns the character at position# pins.

i Nt compareTo (String t)
Returns a negative number if s<t, zero if
s=t, and a positive number if s>t.

Static Methods

i nt indexOf (String t, int f)

Looksfor the string t within s, starting at

position# f in s. Returnsthe positionin s
where the match wasfound. Returns-1 if
no match was found.

| nt eger . parseInt(s)

Doubl e. parseDouble( S)

nmet hods to convert a string s
that contains a nunber to a
primtive type.

i nt indexOf (String t)
Looks for the string t within s (as
above), starting at the beginning of s.

doubl e abs (double x)
Returns the absolute value of x (Mat h)

String substring(int f£,int t)
Returns all characters in s with position
numbers3 f and <t.

doubl e pow(double x, double y)
Returnsx raised toy. (Mat h)

String substring(int f)
Returns a substring of sthat begins at f and
extendsto theend of s.

doubl e rint(double a)
Returns the closest doubl e to a that is equal
to amathematical integer. (Mat h)

String replace(char x,char y)
Returns a string with all occurrences of
character x in sreplaced by y.

String repeat(int count,char c)
Returns a string made up of ¢ repeated
count times. (1 O

String toUpper/LowerCase ()
Returnsastring of al charactersins
converted to upper / lower case.

String trim()
Returns the same content as s but with
any leading/trailing white-space

String Tokenizer
Constructor: (String s,
String delimters)
Methods: String next Token(),
bool ean hasMr eTokens(),
i nt count Tokens()




